[image: image1.wmf]Representation of microscopic fields with the following parameters:



Objective          4X

Ocular              10X

Field Number   20

# of "cells"       157



The "cell" size relative to the entire field corresponds to superficial 

squamous cells (50 um)



The entire slide would need to be covered at this level of cellularity to have 10,000 cells

Addendum B

[image: image2.wmf]Representation of microscopic fields with the following parameters:



Objective          4X

Ocular              10X

Field Number   20

# of "cells"       500



The "cell" size relative to the entire field corresponds to superficial 

squamous cells (50 um)



20 fields would need to be covered at this level of cellularity to have 10,000 cells


[image: image3.wmf]Representation of microscopic fields with the following parameters:



Objective          4X

Ocular              10X

Field Number   20

# of "cells"       1000



The "cell" size relative to the entire field corresponds to superficial 

squamous cells (50 um)



10 fields would need to be covered at this density to have 10,000 cells
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[image: image4.wmf]Representation of microscopic fields with the following parameters:



Objective          4X

Ocular              10X

Field Number   20

# of "cells"       500



The "cell" size relative to the entire field corresponds to superficial 

squamous cells (50 um)



20 fields would need to be covered at this level of cellularity to have 10,000 cells

[image: image5.wmf]Representation of microscopic fields with the following parameters:



Objective          4X

Ocular              10X

Field Number   20

# of "cells"       157



The "cell" size relative to the entire field corresponds to superficial 

squamous cells (50 um)



The entire slide would need to be covered at this level of cellularity to have 10,000 cells

[image: image6.wmf]Representation of microscopic fields with the following parameters:



Objective          4X

Ocular              10X

Field Number   20

# of "cells"       1000



The "cell" size relative to the entire field corresponds to superficial 

squamous cells (50 um)



10 fields would need to be covered at this density to have 10,000 cells
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